2071072018 sic2129 5

LIGHT FIXTURE SCHEDULE

"OW" FIATURES AND LAMPS ARE FURNISHED BY THE OWNER FOR INSTALLATION BY THE CONTRACTOR.

"GC" FIXTURES AND LAMPS ARE FURNISHED AND INSTALLED BY THE CONTRACTOR.

SUPPLIED INPUT | COLOR LAMP
TYPE BY DESCRIPTION VENDOR MODEL VOLTAGE | VA TEMP LIGHT SOURCE QTY | MOUNTING | COUNT
2 oc 47 FLUORESCENT STRIP [pa-pRITE 7232 -0 -1/2EB-LP-THZ 120/277 58 VA 5000K F32T8/TL850/PLUS/ALTO | 2 SURFACE T
6C oc 47 FLUORESCENT SEALED STRIE bRy -sRITE [pwag2 32-08v-1/285-10 1207277 56 VA 5000K F3278/TL850/BLUS/ALTO | 2 SURFACE T
7 oW T x &' VOLUWETEIC TROFFEE [CrEE, THC . [ERTaM-40L-40K-10v-FD 1207277 30 VA A000K TNTEGRAL LED - FECESSED 0
5 o 27 2 VOLUMETRIC TROFFER [cree, Tne. 2822C-40L-40K-10V-FD 120/277 52 A 000K TNTEGRAL LED - RECESSED E
i o 27 % 4" voLUMETRIC TROFFER creE, THe. 2E24M-40L40K-10V-FD 1207277 30vA 000K TNTEGRAL LED - RECESSED 17
7 o [EFERGENCY LIGHT [REXEL EvaT 20727 ERZ) - TNTEGRAL LED - WALL, 3
28 o [WERTHER- PROOF EXIT SIGN [ACOTTY BRANDS LIGNTING, INC. |Lv S W 1 & 120/277 EL N 4X D 1207277 G va - TNTEGRAL LED - WALL 2
34 on 67 STRIP CONTINUOUS BOW [ACUTTY BRANDS LIGHTING, TNC. [CLX L3¢ 8000LM SEF RDL MVOLT G210 40K 80CRI PLRILVG WH[120/277 53 VA 4000K TNTEGRAL LED - | mer oEmATLS 16
%6 o 6" TRAGK MOUNTED CYLINDER [REXEL [GALP-N-v-D-30-98-35-25 L1 -TRACK MOUNT 1207277 ETRCY 3500K THTEGRAL LED - TRACK 25
0 o 6" EDGELIT BLADE STRIP [GE_LIGHTING SOLUTIONS, 1iC _[FLOGOAOTOWHTEG 1207277 104 VA 3500K TNTEGRAL LED - TRACK B
5 o [z vaNTTY LigkT [REXEL [LLt5 211778 35-8 -50-0NV 1207277 21 v 500K TNTEGRAL LED - WALL, iR
LIGHT FIXTURE NOTES: (APPLIES TO ALL LIGHT EIXTURES
PORT ALL RECCESSED OF LAY-IN LIGHT FIKTURES, DIRECTLY FROM THE FIXTURE HOUSING TO THE STRUCTURE
ABOVE, WITH A MINTMUM OF TWO 12-GAUGE WIRES LOCATED AT DIAGONALLY OPPOSITE CORNERS. FIXTURE SURPORT WIRES MAY BE SLIGHTLY LOOSE TO ALLOW
THE FIXTURE TO SEAT IN THE GRID GRID SYSTEM. ATTACH LIGHT FIXTURES TO THE SUSPENDED CEILING SYSTEM TO RESIST 100 PERCENT OF THE FIXTURE WEIGHT
ACTING IN ANY DIRECTION. COMPLETE IN ACCORDANCE WITH APPLICIABLE BUILDING CODE REQUIREMENTS
PROVIDE 1-1/47 FENDER BOTTOM CHORD ATTACH AND ALIGN FIXTURES USTNG
WASHERS, TYP OF BAR JOIST SCREWS, ANCHORS, AND/OR TABS
FURNISHED WITH FIXTURES
SLIDING HANGER
FURNISHED WITH ONISTRUT SHALL SUPPORT NO
FIXTURE, TYP MORE THAN 100LBS IF P3300 IS
TIGHTEN FURNISHED USED AND NO MORE THAN 215LBS
HANGER. SCREW TO IF £3000 IS USED
SECURE HANGER 10 L
FIXTURE, TYP
nsEr
JoIsT TYR
PROVIDE 1/47 HEX
HERD BOLT, NOT AND
LOCKWASHER, TYP P
ovLf UNISTRUT B
FLANGE CLIP (CADDY 1245 OR TCATTONS. H As
EQUAL) KUT AND ReD 10 sean g srs.
LOCKWASHER SECURE TO TOP CflD OF BAR
Jo1sT
PR
CONNECTION FOR END OF ROW
&) FIXTURES EXTENDING FURTHER

REF MANUEACTURER'S "GENERAL
FITTINGS SPECIFICATIONS" FOR
DESIGN BOLT TORQUE

NO CONNECTION OF ANY KIND
SHALL BE MADE TO JOIST WEB
MEMEERS OR JOTST ERIDGING

CONTRACTOR SHALL INSTALL LIGHT

CONTRACTOR HAS THE OPTION TO USE,
EITHER METHOD OF INSTALLATION S

FIXTURES SHIPPED EULLY ASSEMBLED

WITH ELECTRICAL & MECHANICAL
CONNECTORS FOR CONTINUOUS ROW
mouRTING

CONTRACTOR. SHALL PROVIDE,

bRE

WASHER AND NUT,

S FLOOR LIGHTING

-0 07/27/18

SLIDING HANGER
FURNISHED WITH FIZTU:

SHED HANGER

HANGER.
wsET

R 1/4" RLL-THREAD,
1-1/4" FENDER WASHER LOCK

1R

ONISTRUT

INSET
LR TR
TIGHTEN PEENISHE]
HANGER. i TO
NGER TR,
KING
BLANK MALE CONNECTOR
SHALL BE AND DECORATIVE END CAP
NO seLIC AT END OF EACH ROW
FURNISHED WITH FIXTURE

PROVIDE 1/4" HEX HEAD BOLT

1-1/4" FENDER WASHER,
LOCK WASHER, TYP

210

THAN 2'-07, UNSUPPORTED
PROVIDE
LOCKING SERING
wuT, TYR
INSET

TOP CHORD OF
BAR JOTST

NO CONNECTION OF ANY KIND

SHALL BE MADE TO JOIST WEB
MEMEERS O JOIST ERIDGING

REF MANUFACTURER'S "GENERAL
FITTINGS SPECIFICATIONS" FOR
DESIGN BOLT TORQUE

UNISTRUT

PROVIDE LOCKING
SPRING NUT

PROVIDE 1/4" ALL-THREAD,
1-1/4" FENDER WSHER, LOCK
WASHER AND NUT, TYP
BLL-THREAD SHALL

BE A SOLID PIECE. NO
SPLICES ALLOWED

S

BAR
JOTST, TYR

B

7)

&/

PROVIDE ALL-THREAD
CONNECTION TO
ELECTRICAL
EQUIPMENT

N
7

PROVIDE AIRCRAFT CABLE
SUSPENSION SYSTEM FOR
CONNECTION TO
ELECTRICAL EQUIPMENT

UNISTRUT

PROVIDE LOCKING
SERING KUT, TY®

N

BROVIDE UNISTRUT BER
SPECIFICATIONS. LENGTH RS
REQUIRED TO SPAN JOISTS. SECURE
TO TOP CHORD OF BAR JOIST

UNTSTRUT SHALL SUPPORT HO
MORE THAN 100L8S IF £3300 IS
USED AND NO MORE THAN 215LES
IF P3000 IS USED

UNISTRUT CAN BE MOUNTED TO THE TOP
OF EITHER THE TOF CHORD OR BOTTOM

CHORD OF THE BAR JOTST PROVIDE 1/4" HEX HEAD BOLT

1-1/4" FENDER WASHER, AND
LOCK WASHER, TYP

CONTRACTOR HAS THE OPTION TO USE
EITHER METHOD OF INSTALLATION SHOWN

TOP CHORD
OF BAR JOIST

GENERAL ELECTRICAL CONNECTIONS TO STRUCTURE

127 = 1'-0" 07/27/18

ThE
Eal
SEci
GaE5y !
#5224

IS DRATING WS pREPARED Fom st

STIPULATION FOR R}
BE CONTRARY TO THE L.

CONSULTANTS

GA

2630

2180278 | PROTO

JESUP,
STORE NO

Almarts,g

JOB NUMEER:

ISSUE BLOCK

CHECKED BY: EEN

DRAWN BY: M

EROTO CYCLE: 07/27/1

DOCUMENT DARTE:  10/05/1

NOT FOR
CONSTRUCTION

LIGHTING
DETAILS AND
SCHEDULES

EXISTING CONDITIONS WERE TAKEN ER(
CRIGINAL DRAWINGS AND MAY NOT REFLECT

EXACT "AS-BUILT" CONDITIONS. CONTRACTOR
SHALL FIELD VERIFY ALL EXISTING CONDITIONS
BRIOR TO SUBMITTING FINAL EIDS. CONTRACTOR
SHALL CAREFULLY COORDINATE NEW WORK AND
DEMOLITION WITH ALL OTHER DISCIPLINES AND
EXISTING CONDITIONS.

EACH SUBCONTRACTOR IS RESPONSIELE FOR HAVING

A THOROUGH KNOWLEDGE OF ALL DRAWINGS AND
SPECIFICATIONS IN THEIR RELATED FIELD.
TO ACQUAINT THEMSELE WITH THIS KNOWLEDGE

THE FAILI

DOES

NOT RELIEVE THE RESEONSIEILITY OF PERFORMING

THE WORK PROPERLY. NO ADDITIONAL
COMPENSATION SHALL BE ALLOWED BECAUSE OF
CONDITIONS THAT OCCUR DUE TO FAILURE TO
FAMILIARIZE WORKERS WITH THIS KNOWLEDGE.

RE

SHEET:

El.2




	Created with MetaPrint
	0054 E1.2.pdf

